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Prime Factorization Trees

Use the number trees to find the prime factors of each number. 

2 x 36 =

36

8 =

8

12 =

12

28 =

28

20 =

20

24 =

24

18 =

18

42 =

42

50 =

50



copyright:    www.mathinenglish.com

Answers

Use the number trees to find the prime factors of each number. 

2 x 2 x 3 x 336 =

36

2 3

6

2 3

6

2 x 2 x 28 =

8

2 2

42

2 x 2 x 312 =

12

2

2

3

6

2 x 2 x 728 =

28

7

2 2

4

2 x 2 x 520 =

5

20

2 2

4

2 x 2 x 2 x 324 =

24

2 3

6

2 2

4

2 x 3 x 318 =

18

3 3

92

2 x 3 x 742 =

42

7

2 3

6

2 x 5 x 550 =

50

5 5

252


